


1
1.1.1
1.1.1.1 L 24m
L 15m
1.1.1.2
1 20 n mile
4h
2
10 n mile 2h
7 2.5m
3 5 n mile
2h 6
1.1.1.3
1.1.1.4
1.1.1.5
1.1.2
1.1.2.1
1 V
V = 3.7y0%17 m/s
V=10 kn
Vv — A m’
V—
2 Vv 1.1.2.11
3
4

10 n mile

1.3m



12

10

11

12
13

14

1.2.2



CESECES

1.2.3.1 1.2.2 4

1.2.3.4 4 5
1.2.3.5 1.2.2
1.2.3.6 /

1.2.4
1.2.4.1
* CSA4/4 Y CSA5/5

4 5
* CSA4/4 % CSA5/5

4/4 374 2/4
3 2 5/5 4/5  3/5

1.2.4.2



1.2.4.2 1

1.2.4.2 1

High Speed Boat
Low Speed Boat

2 1.2.4.2 2

1.2.4.2 2

Coastal Service Restriction
Sheltered Service Restriction

Calm Water Service Restriction

LPG

.2.4.3

Safety — Clean

.2.4.4 3

3.1
30101

3.1.2

.3.1.3

0 N N B B~ W




X

%

%

*x

10
11
12
13
14
15
16
17
18 Z
19
20
21
22
23

® 0600

24
25
26
27
28
29
30
31
1.3.1.4

0 N AN LB W~

1.3.1.5

1.3.1.6

1.3.1.3

1.3.1.4

1.3.1.3

1.3.1.4



1.3.2
1.3.2.1

b A W N =

1.3.2.2

(5 S I )

1.3.2.3

0 N AN Lt AW N =

1.3.2.4
1.3.2.5

“



1.3.3
1.3.3.1 1.3.1.6

1.3.3.2 3
1.3.3.3

1.4.1
1.4.1.1

O 0 9 O Lt AW N =

1.4.1.2

1.4.1.3

AN L AW N =

1.4.2 /



1.4.2.1

1.4.3
1.4.3.1

1.4.3.2
1.4.3.3

/

1.4.3.1

2

4



2.1.2.
1.2,

[NST NI NS R\
e

.2

1.2,

2.
2.
.3

.1
2

1
2

4
2.3.2
.5

.10

1

12

1.5

1.5

40m

0.1B B

0.9m

S 500mm

2m

172

2.1.2.10 2.1.2.12

3/8



10%

2.1.3.4

2.1.3.5
2.2.3  2.3.7 10%

2.2.3  2.3.7 10%

2.1.4.2

2.1.4.2

P <30 =20

30< P <60 =25

60< P <100 =30

100< P <135 =35

135< P <165 =45

P =165

2.1.5.1 1/73L 0.15L




NS SR S

NSRS S A

b, = s b, = 23t + b, mm

@®
b, =s b, =11d mm
@
b, = s b, =35d mm
S mm
t— mm
d—— mm
by — mm
1.7.2
1.8
1.8.1
1.8.2
1.8.3 30
1.9
1.9.1 2.1.9.1
1.9.2
1.9.3 t
W We We
L= 100746 T 10007, T 100074 mm
We g/m’
G—— %
YR g/cm’

Yo — g/cm’



2.1.9.1

41 v
N/mn? 80 100 180 350
N/mm? 5000 7000 11000 20000
N/mm? 125 150 180 350
N/mn? 5000 7000 11000 20000
N/mm? 80 90 119 180
N/mn? 5000 7000 11000 20000
% @ 65-175 55-65 45-55 45-55
=40 =40 =40 =40

@ 41

@

2.1.10

2.1.10.1

2.1.10.2

2.1.10.3 4h

2.1.10.4 200kPa

1.5m 12.5mm 0.1m/s
2
2.2.1
2.2.1.1
1 Qeg H;
Vi

12 -




Vi 1o H Buy’
s BB 007 s0-p o Ty

% = 426 /] By By
g — 9.81 m/s’
VH H1/3 kl’l
H;— m Hy; =4m
H1/3 =2Hl H]/3 =1m
L — m
BWL — m
B — ° B max = 30°
A — t
2 1 Ay 1.3¢ Ay 1.3¢
g 2¢g Uy
3 o 1
Hl/3 VH Hl/3 VH
2.2.1.2
1 Psl
Py = 10K, Kya,d kN/m?
K— K, =0.5 K, =0.3 0.3L 0.8L
Kl = 1
Ky Ap/ Ay 2.2.1.2 Ap
m2
Ap = 0.7A/d m’ A t
Qg — m/ss  2.2.1.1
d m
2 P,
P, = 9.81h + 0.15P, kN/m?
h__
m
Py—— kN/m,
3 P,
P; = 0.25L + 4.6 kN/m?

13-



P;=0.1L +4.6 kN/m?
P, = 4.5 kN/m?

0.9 0.85

Ko

0.8

0.7 \

0.6 N

0.5 \

0.4 \

0.3} ~

0.2
\\‘

0.1

I

0.001 0.002 0.004  0.01 0.02 0.04 0.1 0.2 0.40.6 l'OAD/AR

2.2.1.2
4 P,
P, = 10h
P, = 10h, + 10
h — m
h’d m
5 P
P =5+0.3L
P =25+0.2L
P =3
L— m
0.9 0.85

14 -

kN/m?
kN/m?

kN/m?
kN/m?
kN/m?



2.2.2

2.2.2.1 L min
toin = KoL mm
K, 2.2.2.1
L—— m
K, 2.2.2.1
1.45 1.25 1.10 1.10 0.95 0.90 1.20 1.30
2.2.2.2 t

t = 44.8s, | P mm
Gnu

O fnu N/H]Hl2

s m

p— 2.2.1.2
2.2.2.3 L inin

Lin = KO«/z mm 2.0mm ®
bogin = KO«/—L - 0.5 mm 1.5mm &)
Ky 2.2.2.3
Ky 2.2.2.3

0.7 0.6 0.5 0.5 0.4 0.4 0.45 0.55

2.2.2.4 t

SS)

15 -




,_ L4801 P

="K 1+ 7 T
Yy — V4 14
T, N/mm?
K—— K=1.86-0.06y K« 1
K =1.95-0.079y K
1.0
s P—— 2.2.2.2
2.2.3
2.2.3.1 W
2.
W = Kli cm’
anu
O~ N/mm?
K 2.2.3.1
| — m
2.3.7
s 2.2.2.2
P— 2.2.2.2
K 2.2.3.1
K
480 400
480 400
480 400
_ 400
_ 400
_ 480
2.2.4
2.2.4.1 A,
A, = 0.01hyt, cm?
A, = 0.01h,t, + AA, cm?

16 -




Ly, mm
AA, — cm?
2.2.4.1
0 =45° AA, = 0.9f; 0 =0° AA, =0 0
A, fi cm?
2.2.4.2 2.2.4.1 A,
A, = 25.5slP on?
7,
T, N/mm’
s P l— 2.2.3.1
fi
[
<
r
’h' $
: I
|

2.2.4.1
3
2.3.1
2.3.1.1 Lmin 2
2.3.1.2

17 -

emin



2.3.2

2.3.2.1 L 15m L/D 12
2.3.2.2 L
174
W = fL’By C, +0.7 em®
f— f=0.25L + 24
L — m
By —— m
Cy
2.3.2.3 1
I = 4.0WL em”
L — m
W—— 2.3.2.2 cm’
2.3.2.4
1 0.4L
2 0.41 0.2L
3 “
ZEL'IL 3
W, = Y cm
E— N/mm’
Y — cm
E I,— N/mm?
cm4
2.3.3
2.3.3.1 t
t = 13.43«/% mm

18 -



b ——
2.3.3.2
2.3.3.1 0.9
2.3.3.3 4
t = 12.4sh mm
s 2.3.3.1m
B ——
2.3.3.4 0.4L
0.85
2.3.3.5 t
11hs
I = mm
TC
s m
h — 2.3.3.1 2.3.3.3
7, N/mm?
2.3.3.6
2.3.4
2.3.4.1 h
h =0.02L + 0.46
h =0.01L + 0.46
h = 0.45
0.9 0.85
2.3.4.2 0.4L
t = 16.2sh mm
s m
h — m 2.3.4.1
2.3.4.3 0.4L
0.85

0.35

=

19 -



2.3.4.4

11hs
I =
TC
s m
h — m 2.3.4.1
T N/mm?
2.3.5
2.3.5.1 l
I = 1228«/71,
s m
h —— m
2.3.5.2
11hs
I =
TC
s m
h — m
T, N/mm?
2.3.5.3
2.3.6
2.3.6.1
1
h =
h =
h =
2
1 0.9 0.85
2.3.6.2

20 -

mm
mm
t
mm
h
h
0.02L + 0.5
0.02L +0.25
0.3

=)

1.25



2.3.7
2.3.7.1

2.3.7.2

t = 11.7sh

m
m  2.3.6.1
11hs
i =
T(:
m
m  2.3.6.1
N/mm?
/4
W = 15.4sDI?
m
m
H
H = 62.51]
w
W = 25.7shl?
m
m
m
174

cm

cm

21



22 -

W = 24shi? cm

W = 22.6shi?

14

W = 22.6shl?

4

W = 19.6shi?

m  2.3.4.1

W = 17.0shi?

m 2.3.4.1

w

W = 21.0shl?

cm

cm

cm

cm’

cm



h —— m 2.3.4.1
| — m
2.3.7.7
2 W
W = 17.1bhi? cm®
b—— m
| — m
h — m 2.3.4.1
3 W 2
W = 0.102c¢Pl cm’
P— kN
| — m 2.3.7.7 2
c 2.3.7.7 3 a P
m
c 2.3.7.7 3
a/l 0.94 0.90 0.85 0.80 0.75 0.70 0.60 0.50
c 3.56 8.32 14.06 18.22 21.39 22.77 23.73 24.75
2.3.7.8 W
W = Kshl? em’
s m
| — m
h — m
K ——
K =21.67
K =28.87
K =34.61
2.3.7.9
1 2.3.7.5 2.3.7.7

23 -




24 -

m

W = 20.3shi*

2.3.6.1

cm



2.1

3.1.1

3.1.1.1
3.1.1.2
3.1.1.3

3.2.1
3.2.1.1

B— m

3.2.2
3.2.2.1

N = A 412 BH, + >, S;sin0; +0.14 k

1.1.3.9
B/4
B/4
B/4
k=15
E=1.0
k=07

3.2.2.1

1.3

3.2.

25 -



3.2.2.1

N
AM1 AM2
kg " " " kN " kN
- 5 12 8 8 75 29.4 2x22.5 25
5 10 12 8 8 75 29.4 2x22.5 25
10 15 14 8 8 75 29.4 2x 25 25
15 20 20 8 8 80 29.4 2x25 30
20 25 25 8 8 84 29.4 2x 25 30
25 30 31 8 8 87 29.4 2x35 30
30 35 37 8 8 90 29.4 2 x40 32
35 40 43 8 8 93 29.4 2 x40 32
40 50 51 8.5 8 97 29.4 2 x40 32
50 70 67 9.5 8.5 105 38.3 3 x40 34
70 90 90 11 9.5 113 50.8 3 x50 37
90 110 112 12.5 11 121 63.3 3x 55 39
3.2.2.2 8m
3.2.2.3
3.2.2.1
3.2.2.4
.2.3.1 3.2.2.1
k
0.85 15mm 4
8m
3.2.3.2 L,, 6m
1
3.2.3.3
.2.3.5

26 -




3.3.4.1
500mm

3.3.4.2

3.3.4.3

180mm

3.3.5

150mm

28kPa
150mm

500mm

27 -



_ b ke
=31.6N o, mm

b—— mm
p— kN/m? 2.2.1.25 2.3.6.1 1
¢ 3.3.4.3 3
Oy MPa
k— k=4.0
k=3.5
L in

Iyin = 4mm
bin = dmm

Lyin = 3mm

U imin =4mm
4
C 0.8
e
0.7
W
0.6
0.5 /
' /
0.4
0.3 /
0.2 -
0 1.0 2.0 3.0 4.0 5.0
fFnkRk=Kil/En
3.3.433
3.3.5
3.3.5.1
3.3.4.1 1

28 -



3.3.5.2

3.3.5.2

kPa

35

14

=3min

<0.5L

3.4.
3.4.

—_
—

3.4.1.2

3.4.2
3.4.2.1

3.5.
3.5.1.

[ —
—

3.5.2
3.5.2.1
700mm

12

0.38m’

29 -




3.5.2.2

3.5.3
3.5.3.1

3.5.3.2

3.5.3.3

30 -

25kn

650mm x 450mm

500mm

g

1.3g



80mm

31



4.2.1
4.2.

—
—

115%

4.2.1.2

4.2.1.3

4.2.1.4
4.2.1.

—_
o)}

4.2.1.6
10m
4.2.1.7 0.1MPa +45C
60 % 32C

4.2.2
4.2.2.1

4.2.2.2 35kW

4.2.3
4.2.3.1
4.2.3.2

4.2.3.3

4.2.4.
40kW

4.2.4.5 20kn

N

40kW

32



4.3.1.1 Im’ 0.34m?

4.3.2.1 4.3.3
4.3.4

1/3
4.3.3.2 600mm
3000mm*

A =3300ln V/0.14

4.3.4
4.3.4.1 Q 4.3.4.1

@ 1SO 8846
33 -



Q 4.3.4.1

14 m? Q m*/min
<1 1.5
< V<3 1.5x V
>3 1.5xV+3
4.3.4.2
4.3.4.3 1/3
4.3.4.4
4.3.4.5 4min
4
4.4.1
4.4.1.1 400 ~ 600N/mm’
800N,/ mm’
4.4.1.2 d
TP 560
d =100C ;eab+160 mm
C_
C =1.0—
C =1.22—
C =1.26—
pP— kW
1, P r/min
o) o, > 800N/mm’ 800N,/ mm’
o > 600N/ mm> 600N,/ mm’
d 0.8
4.4.1.3 do 0.4d,

34 -




c

d—— 4.4.1.2 mm
d

a mm

4.4.1.4 4 4.7.3
4.7.4

4.4.2
4.4.2.1

BL =564 mm

m

pP—- kW

. P r/min

1000N,/mm?
N/ mm>

4.4.2.3 d

[ P x 10°
d, =25 Do, mm

Pn ZD o 4.4.2.2

4.4.3
35



4.4.4 71
4.4.4.1 7

4.4.4.2 4.4.1.2

4.4.
4.4.
4.4.
4.4.
208
4.4.

4.4.3

70°C

~ B~ &~ B
AN N AW

180°

B~
-

4.4.4.8 8 4.8.1.7
4.4.4.10 0.2MPa

0.1MPa
4.4.4.11 1.5 1.25

4.4.1.2

1.5

R S e
~ B~ B B2 B b

WD L L L b D
[ B N S R S

N
~
)
<

36 -



4.5.2
4.5.2.1

4.5.2.2

0.1%

4.5.2.3

0.1%

4.5.3
4.5.3.1

4.5.3.2

4.5.3.3

4.5.3.4

@ 1S07840
@ 1S08469

1mm

0.02MPa

37



4.7.2.2 L 12m

220°C

300mm

12m

4.7.2.4

m’/h

L <6
6< L <12
12< L <24

0.6
1.0
2.0

4.7.3
4.7.3.1
350mm

38 -




R L T T

0 0 OO0 OO0 0 o0 O o0
e e e

S R T TR SR

WD AW N =

4.4.4

4.4.5

39 -



5.1.
5.1.1.1

—

5.1.1.2

5.1.2
5.1.2.1

5.1.3
5.1.3.1
5.1.3.2

5.1.3.2

5.1.3.2

%

+6~-10

1.5

+30~ -25
+20~ =25

5.1.3.3

40 -

5.1.3.3 1




5.1.3.31

0~40°C
40°C 0°C
—25~40C
55°C
5.1.3.4
5.1.3.5 5.1.3.5
5.1.3.5

1P20

1P22

P44

1P56
5.1.4
5.1.4.1 5.1.4.4

5.1.4.3
5.1.4.2 150mm
5.1.4.3 8mm’ 5.1.4.4
0.1m? 1mm
5.1.4.4
Smm?
0.71mm’ 19
1mm
5.1.4.5 5.1.4.4
5.1.4.2

5.1.4.6
5.1.4.7

41 -




5.2.1.

5.2.1.

5.2.1.

5.2.1.

5.2.2
5.2.2.

5.2.2.

5.2.2.

5.2.2.
42 -

5.2.1.5

60

45°

+ 10mm



5.2.2.
5.2.2.

5.2.2.

5.2.2.

5.2.2.

5.2.3
5.2.3.

5.2.4
5.2.4.

5.2.4.

5.2.4.

50V

5.2.5
5.2.5.

5.2.5.
IP55
5.2.5.

5.2.5.

AN W

300mm

500V

P56

43 -



3.1.2
3.1.3

(9]

.3.1.6

125%
5.3.1.7

5.3.1.8

5.3.1.9

5.3.2
5.3.2.1

5.3.2.2

5.4.
5.4.1.1

—

5.4.2
5.4.2.1

44 -

1kW

S50kW



800mm

5.5.2.

250mm

1m

4 200mm

0.75mm?

2. 5mm’

2.10
11

.12

50mm

.13

.14

70°C

0.75

60°C

450mm

IP55

Imm

250mm

45 -



5.6.1
5.6.1.1

5.6.2
5.6.2.1

5.6.2.2

5.6.2.3

5.6.2.4

5.6.2.51
5.6.2.5

3~5cm 2h 50 ~ 60Hz 20kV

C 25mm + Smm

10

@ 1S08846
46 -

14kV rms
500V 355V ms
125°C +2C
10
30h

3%

40h

ISO 1817



125°C £2°C ISO 1817 3
40h
10 1

47 -



48 -

LPG

LPG

LPG

6.2.3.5



6.2.3.6

6.3.1
6.3.1.1
13.5L

6.3.1.2

6.3.1.3

Il 80°C
i 500 ___ WI
[ [
TR b
| g 350l |
: : e aii]
| |
! Y

150
300

///’ _-\\\
S TN N
/7 \
{0 ! )

= o apnon

\ \\ // /, @ i’ﬁ[: mm o

6.2.3.5

9L

49 -



50 -

15m

<15m

12m



1
7.1.1
7.1.1.1
7.1.1.2
7.1.1.3 5
2
7.2.1
7.2.1.1
1
0.35m
7.2.1.2
1 7.2.1.2 1
2
100mm 60mm
g_,_ iR £k
———— 300 ---5—1 ,
&
H-
C S 8 J
E. — 400 —-—|—r
FBEE 100mm, %% 60mm
7.2.1.2 1
3
7.2.2
7.2.2.1 F

51-



K =B m
J—
D — t
L()(l m
B— m
K — K =4.5 L 10m
K =3.5
7.2.2.2 F 0.3m
F = 0.2B m
F— 7.2.2.1
B— m
80% F
7.2.2.3 100%
7.2.2.4 7.4.2.3
7225
Fy
_ L o5 1.36
Fy=1000 55 e 0,68 F mm
C,—
k— E=1.0
k =0.85
j— m
3
7.3.1

52



7.3.1.

7.3.1.

7.3.
7.3.

7.3.

7.3.

7.4.
7.4.1.

7.4.1.
7.4.1.

7.4.
7.4.

7.4.

\S]

—_—

—_

12°

100 % 10%
Loa 8m
12
4
Lo 8m
100mm
0.05m
10°
28kg

75kg/

7.3.1.1

12°

8% ~15% L

53



1 2 10+ 5n kg
n
4 1 2 3
5
7.5.1
7.5.1.1 GT
6T = Kl Vl + Vz
K] — Kl =0.2+0.0210g]0 V] + VQ
Vi— m’
V2 Hl3
7.5.1.2 Vv,
V, = L,BDC m’
L(l m
B— m
D—— m
C— 7.5.1.2
C 7.5.1.2
0.80 0.80 0.94
0.85 0.90 0.96
0.90 0.95 0.98

54 -




7.5.2
7.5.2.1

K, —
GT —

7.5.1

0.80+0.90

) =0.85

0.7 0.75

NT

NT = K,GT

12 0.5

0.30

55



1
8.1.1
8.1.1.1
8.1.1.2
2
8.2.1
8.2.1.1 8.2.1.1
8.2.1.1
L
L=20 m 20> L =12 m L<12 m

5 n mile 3 n mile 2 n mile

2 n mile 2 n mile 1 n mile

2 n mile 2 n mile 2 n mile

2 n mile 2 n mile 2 n mile
8.2.1.2 8.2.1.2
8.2.3
8.2.3.1

12m 12m 2.5m
2 12m 2.5m
Im
3 3/4
4 Im
5 0.4m
0.5m

6

56 -




8.2.1.2

L=12m

12> L >7® m

L <7 m

0 0 6

8.2.3.2
1 20m  20m

oo

.2.3.3
.2.3.4

oo

oo

2.4
.2.4.1

oo

oo

3.1
3.1.1

oo

20m

1.5m

57 -




8.3.1.3 60

8.3.2
8.3.2.1
1h
4
4.1
4.1.1
4.1.2
5
.1
5.1.1 12 1 30 m
1
5.2.1 1 5%
3.1 L 10m 20
8.5.3.1
8.5.3.1
% O g %
70 40 110
40 40
30 30
@
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15ppm

110%
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s = AN N <t n
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1.1.1
1.1.1.1

10 n mile

1.1.1.2
1.1.1.3

1.1.1.4

1.1.1.5

1.1.2
1.1.2.1

2h

60°C

20m

2.5m

10h

20 n mile

5 n mile

6h

10 n mile

4h

1.3m
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1.2.
1.2.

®O0e e

3.2

12

1.2.2

1.2.2



1.2.3.3 / 5 3 1
1.2.3.4 5
3

1.2.3.5 1.2.2
1.2.3.6 /
1.2.4
1.2.4.1
% CSA5/5

5
* CSA5/5

5

5/5 4/5 3/5 4 3
1.2.4.2

1 1.2.4.2 1
1.2.4.2 1
Passenger Boat
Cargo Boat
2 1.2.4.2 2
1.2.4.2 2
Correspounding Coastal Service
Correspounding Shetered Service
Correspounding Calm Water Service
1.2.4.3 7 -
Safety — Clean

1.2.4.4 3
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LPG

1.3.
1.3.

1.3.

1.3.

—

1.2

1.3

1.3.2
1.3.2.

1

1.4.3

1.3.1.6

1.4.2



1
2.1.1
2.1.1.1
2.1.1.2
1
L =10m 4mm L <10m
2
3
3.0mm
2.1.1.3
2
2
2.2.1
2.2.1.1 ¢
t =0.062s L + 170
t = 6.5sVd + 1
s m
L— m
d—— m
2.2.1.2
0.6m
2.2.2
2.2.2.1 t

t =0.07s L+ 115

8%

3.5mm

0.5mm

1

10%

1.1.2.1 1

0.5mm

10%

1.2mm
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2.2.3
2.2.3.1

2.2.4
2.2.4.1

N

2.2.4.2

2.2.5
2.2.5.1

2.2.5.2

2.3.1
2.3.3.1
2.3.3.2

66 -

1.5

t = 6s4/d

1.2

t =1.05svL+75

t = 10s

h =42 B+d -70

mm

mm

mm

4mm

4mm

1.2



2.3.2
2.3.2.1

.3.2.2

2.3.3

.3.3.1

.3.3.2

2.3.4

.3.4.1

.3.4.2

.3.4.3

0.4L
0.075L

t =0.01h +3
A =4.8d -3

t = 0.06L +6.2
t =0.05L +5.5
A =0.65L +2

2.5m

S0

so = 1.6L + 500

2.3.4.1

W = Csdl?

mm

cm2

cm3

mm
mm

cm

100mm

10
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2.3.4.4 2.3.4.3

W = 5shi? em’

2.3.5
2.3.5.1 14

W = 7.8bhi* cm’

I =2.5Wl em”

2.3.6
2.3.6.1 h
700mm

h =25B + 42d + 300 mm



2.3.6.3

2.3.6.4

Smm

S
2.3.6.5

1mm

2.3.6.6

2.4.1.1

2.4.1.2

0.4L t

t = 0.04L + 8s mm

2.3.6.4

.075L 2.3.6.4 0.9

ho 0.8m

ho = 0.025L + 0.45 m

h 2.4.1.2

h 2.4.1.2

0.15L

1.2hg

P+0.3 hy

0.8hg

0.6hy 0.4hy ... 0.45m

2.4.2
2.4.2.1

h m

W
W = 3.5C,shl* + C,Dd em’
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h— m 2.4.1.2

2.4.2.2 W

W = 5shi?

h — m 2.4.1.2

2.4.3.1 /4

W = 4.75bhl?

h — m 2.4.1.2

I =2Wl

2.5.1

2.5.1.1
2.5.1.2
2.5.1.3
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C, = 0.0065L + 0.61
C, = 0.8

3
cm

cm

Cm4

C
C, = 0.5



2.5.2

2.5.2.1 3 4.5mm
t = 4.2sh mm
s m
h — m 2.5m
2.5.2.2 3 4.5mm
t = 4.7sh mm
s h—— 2.5.2.1
2.5.2.3 0.5mm
1.5mm 1
2.5.3
2.5.3.1 W
W = Cshl? em’
s m
h — m 2m
| — m
C—
C =6——
C =3—
2.5.3.2 W
W = 1.25Cshl? em®
s hl C—— 2.5.3.1
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2.6.1
2.6.1.1 500mm
2.6.2
2.6.2.1 t
t = 0.025L +4 mm L =10m
t = 0.025L + 3.5 mm L <10m
L— m
2.6.2.2 2.6.2.1
2.6.2.3 W
W = 3.5shi? em’
s m
| — m 2m
h — m
0.132L d/D *° 0.008L +2.5 m
0.045L d/D ? 0.004L +1.25 m
L m d/D
d/D < 0.7 0.7 d/D > 0.8 0.8
2.6.3
2.6.3.1
1
2 t
t =0.04L +4 mm L =10m
t =0.04L +3.5 mm L <10m
L— m
2.6.3.2 2.3.4
2.6.4
2.6.4.1 t
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0.5mm



o~
1l

0.035L + 4 mm L =10m
0.035L + 3.5 mm L <10m

=~
1

2.6.4.2 4

2.6.5
2.6.5.1 t

t =0.025L + 3.5 mm

2.6.5.2 14
W = 3.5shl? em’
s | —— 2.6.2.3
0.12L d/D *3 0.008L +2.5 m
0.045L d/D *? 0.004L + 1.25

L d/D 2.6.2.3

2.6.6
2.6.6.1 t

t =0.04L +3 mm

2.7.1
2.7.1.1 3mm

80%

2.7.2
2.7.2.1 30%
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2.7.3
2.7.3.1 30% 20%

2.7.4
2.7.4.1
2.7.4.2

2.7.4.3 15min
2.7.4.4

2.7.4.5 200kPa
1.5m
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3.
3.
3.
3.

3
3

1.
1.1.1
1.
1.1.3

2.
2.1,

—_

S G G —y

0.7

3.2.1.1

3.2.1.1

100

30

W W W W

(NS T AR NS R \S]
W W W W
N =

8m

15m

11mm
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3.3.1
3.3.1.1

3.3.2
3.3.2.1

3.4.1
3.4.1.1

3.4.2
3.4.2.1

4.3

.4.3.
.4.3.2
.4.3.3

W W W W
—_

AW N =

3.4.4

3.4.4.1
3.4.4.2
3.4.4.3
3.4.4.4
3.4.4.5
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4
1h
20min  1h
20min

40%

0.38m’
0.28m’

1.85m



4.1
4.1.1

4.2
4.2.1
8h

4.3
4.3.1
4.3.2
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L L D
—_ = = =
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S W Gy
—_—

15m

LPG

6.2.4

6 6.3.2



12°

A N O &
W W W W

6.3.
6.3.2.

— =

oa

0.8
0.35m
12°

12°

8m 8% ~15% L

6.3.2.
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6.4.1
6.4.1.1

6.4.1.2

6.4.2
6.4.2.1

6.4.2.2
380mm

6.4.2.3

6.4.2.4

6.4.2.5

6.4.2.6
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0.05m

10°
4
0.35m
6.4.1.2
L TR
—— 300 --—5 —I ,
&
H

C S s

E. — 400 —-—-——l—,r_

FH% 100mm, % 60mm

6.4.1.1

150mm

100%

500mm

380mm
500mm
400mm

180mm



7.1.
7.1.

[ —
—_—

7.2.
7.2.

[ —
—

7.2.
7.2.1.3
60

—_ =
[\

7.2.2
7.2.2.1
1h

7.3.1
7.3.1.1
7.3.1.2
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7.4.1
7.4.1.1 2 30m
7.4.2
7.4.2.1 1
7.4.2.2
20min 40%
20min  1h 60%
3 1h 100%
7.4.3
7.4.3.1
7.4.3.1
7.4.3.1
@) % © % %
70 40 110
110 110
40 40
110 ‘ 110
30 30
100 ‘ 100
O]
)
7.4.3.2
7.4.4
7.4.4.1 6
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LPG



(O S N V)

1.2.
1.2.

AW NN =

.1.2

.1.3

98]

1.1
LPG
LPG
LPG
LPG

LPG

LPG

LPG

LPG

LPG

LPG

83 -



1.2.1

1.2.2
1.2.2

AN L AW N

1.2.3
1.2.3

1.3.1
1.3.1

~N N L AW

1.3.2
1.3.2
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LPG
2

.1

LPG
LPG
LPG
LPG

.1

.1

LPG

LPG

.1

LPG

LPG
LPG
LPG

LPG

LPG

LPG

LPG



2.1.
2.1.
2.1.

115%

2.1.1.

2.1.
2.1.

1.1
1.2

1.4
1.5

LPG

LPG

LPG

220°C
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3 LPG

45C

3.1.4 LPG 80%

2 LPG

LPG 0.005MPa

3.2.2 0.35MPa

3.2.3 LPG
LPG

@ GB17259
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3.2.

LPG

LPG

LPG

LPG

LPG

0.8mm

LPG

LPG

12mm

12mm

1.5mm

3.4.1
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3.4.1

LPG

MPa

MPa

3.3

2.2

0.2

0.1

3.4.2
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3.4.1




4.1.1

100mm

4.1.2

4.1.3

4.1.4

4.1.5

4.2.1
30 /h 20 /h /

4min

1/3

2 1/3

4.2.2 4.2.1

&9 -
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1/3



LPG

5.1.1

5.1.1.1
5.1.1.2
5.1.1.3

5.1.1.4

LPG
LPG

LPG

LPG

LPG

60%

30%

LPG

LPG

LPG
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1
6.1.1
6.1.1.1
6.1.1.2
6.1.1.3 “ ”
2
6.2.1
6.2.1.1 6.2.1.1
6.2.1.1
P kW
P <31.5 1 2kg
37.5< P <150 2 2kg
150 < P <300 2 3kg
300< P <450 2 4kg
6.2.1.2 2 2kg
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7.2.1.1 / LPG

LPG

N 99
SRS SIS
SRS S
Do

<
NSRS}
(98]

7.2.3.2

7.2.4 1PG
7.2.4.1 LPG

7.2.4.2

7.2.4.3 LPG

1 LPG
LPG
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7.2.4.4

7.2.4.5 LPG
30%

7.2.4.6

7.2.4.7

LPG
LPG
LPG

W kAW
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60%

4min

LPG
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